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The logic of investigating simple learning 
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3-term Contingency 



Stimulus Control Stimulus Control 



Negative Reinforcement occurs when a response decreases in  

frequency because it produces an aversive stimulus 

Correct Incorrect 

In the presence of this stimulus a response produces this effect ………. 

In the presence of this stimulus a response produces this effect ………. 
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16 Months old 

What sorts of explanatory fictions 

are likely to be invented? 
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Stimulus Control Stimulus Control 
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Stimulus Control Stimulus Control 
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Behaviour Behaviour 
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Stimulus Control Stimulus Control 

Discriminative Stimulus Discriminative Stimulus 

S S 
D D 



Stimulus Control Stimulus Control 

Chains Chains 
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Pigeon responds in the same way to all stimuli Pigeon responds in the same way to all stimuli 

This is an example of  

Stimulus Generalisation 

This is an example of  

Stimulus Generalisation 



The pigeon responds differently to each stimulus The pigeon responds differently to each stimulus 

Number of Responses Number of Responses 

Discriminative Stimuli Discriminative Stimuli 

Discriminative Stimuli Discriminative Stimuli 

Responding reinforced 

in the presence of this 

stimulus 

Responding reinforced 

in the presence of this 

stimulus 

Responding NOT 

reinforced in the presence of 

this 

stimulus 

Responding NOT 

reinforced in the presence of 

this 

stimulus 

Differential Responding 

indicates that a discrimination has been made 

Differential Responding 

indicates that a discrimination has been made 
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